| Efficiency vs Dxy |
>0.05
X
©
0.045
>
80.04
o
D.035
©
0.03
0.025
0.02

0.015

......................................................................

......................................................................

0.0

0.005

1

Ratio

1.1

..................................

...................................

510 15 20
TP dxy (cm)

—=— DQM_original_stepZ_tibar-phaseI-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

| Efficiency vs Dz |

0.2 —+— DQM_pixelCPETemplateCutChiSquareNew?2_step?2_ttbar-phasel-newgeom
N . T T T
> : :

€0.18
>

_5016

o
£0.14
o

0.12
0.1~
0.08

....................................................................

0.06

0.04}

0.02F
of
1.2

Ratio

1

0.8

2030
TP dz (cm)

10



	Contents
	Page 1


